> A
A & 0l & A &2 F Al
2008F & =0l & L BHSIH =LA Bl A D
D FRMEIAD
ASE MEOF XY
T ALY FE Chel &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AT 59,186,642 36,577,850 22,608,792
= 32,862,170
AlH 23,468,790
T Hl 2,855,682
E MErE X 3,998,074 3,679,135 318,939
= 3,366,604
Al 433,344
-l 198,126
A=A 3,998,074 3,679,135 318,939
= 3,366,604
Al 433,344
Tl 198,126
32z 2,649,295 2,419,824 229,471
= 2,384,365
Al 185,451
I 79,479
307 21201 A 2,649,295 2,419,824 229,471
= 2,384,365
Al 185,451
i 79,479
02 QItF & E X 2,649,295 2,419,824 229,471
OX&22 At i 2,649,295,000& 2,649,295
= 2,384,365
AlHI 185,451
L Hl 79,479
2ASEH 264,091 347,221 A 83,130
= 237,682
AlHI 18,486
T Hl 7,923
307 glz2tol & 264,091 347,221 A 83,130
= 237,682
AlHI 18,486
T Hl 7,923
02 RIZHE A E X 264,091 347,221 A 83,130
OPNE-=EE=F=Ni| 264,091,000& 264,091
= 237,682
Al 18,486
Tl 7,923
NETtEdH 29 323,346 349,970 A 26,624
= 226,342
Al 97,004
307 21201 A 323,346 349,970 N 26,624
= 226,342
Al 97,004
02 It A8 X 323,346 349,970 N 26,624
OXdxadH2g 323,346,000 323,346
=2 226,342




D EOIAHIAD
 HASE 4
L gAY FX

=3

=

- _ _ RE]
CEB B (3H) - HRAY - BAS Ol At o %@ﬁ HRE2

Al'HI 97,004

NEXNEHYH MNIFAEX =S 21,600 20,160 1,440
Al HI 21,600

307 2Iz2t0| A 21,600 20,160 1,440
Al HI 21,600

02 QI2tAH AP X 21,600 20,160 1,440
OXNEXEdye 2A=X] = 21,600,000 21,600
Al HI 21,600

A EESITZ ) AlY| 1,975 1,128 847
= 1,778
Al HI 138
24l 59

307 giztol & 1,975 1,128 847
= 1,778
Al HI 138
I 59

02 QI2tAAME X 1,975 1,128 847
OAZESTZTZ e AY| 1,975
= 1,778
Al HI 138
Tyl 59

IJIAIIE SIS =20 AFY 737,767 532,000 205,767
= 516,437
Al HI 110,665
Tl 110,665

307 212t0| & 737,767 532,000 205,767
= 516,437
Al Hl 110,665
=1 110,665

02 QI2tA A X 737,767 532,000 205,767
OJAIZIPE =01 AFE X 737,767,000 737,767
= 516,437
Al HI 110,665
24 110,665

= X 10,598,013 8,202,914 2,395,099
= 5,015,986
Al HI 5,428,814
Tl 153,213

=N B 5,829,607 4,328,967 1,500,640
2 3,721,675
Al HI 2,101,792
I 6,140

=S X2 4,098,000 3,150,000 948,000
= 2,868,600
Al HI 1,229,400

301 Bt A= 4,098,000 3,150,000 948,000




SN EUA

HE: HUHS KK
ool FOfOISK ZX (S5 &)
4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 2,868,600
AlHI 1,229,400

01 MEI2BZE+06l= 4,098,000 3,150,000 948,000
OZM=¢ 4,098,000,000& 4,098,000
= 2,868,600
Al 1,229,400

ZOHQ Me+< 496,800 464,400 32,400
Al 496,800

301 et a3z 496,800 464,400 32,400
Al 496,800

01 AR 2Z A5 3 496,800 464,400 32,400
OFMHTHE = 496,800,000 496,800
AlHI 496,800

OISR 198,000 190,800 7,200
2 138,600
AlHI 59,400

301 gt d= 198,000 190,800 7,200
2 138,600
Al 59,400

01 MEI2EZE 05z 198,000 190,800 7,200
OFMots=< 198,000, 000& 198,000
2 138,600
Al 59,400

Zopel o zH XA 105,000 104,125 875
= 84,000
AlHI 21,000

301 LerEa = 105,000 104,125 875
= 84,000
AlHI 21,000

01 MEIBEE 2063 105,000 104,125 875
O&oere =l 105,000, 000& 105,000
2 84,000
AlHI 21,000

ZOHAXA SHHI K& 14,500 9,250 5,250
= 11,600
Al 2,900

301 et a3z 14,500 9,250 5,250
= 11,600
Al 2,900

01 Ml28E+06l= 14,500 9,250 5,250
OZOielXHH W =4l 14,500, 000& 14,500
= 11,600
AlHI 2,900

S E MEH XA 1,640 3,400 A 1,760
= 820




SN EUA

HE: HUHS KK
Sol: BOHQIZK S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Al'H] 820

301 et d =S 1,640 3,400 A 1,760
= 820
AlHI 820

01 MEIBEZE 05z 1,640 3,400 A 1,760
OZOMASE A 1,640,000 1,640
=2 820
Al 820

Zoiel ME2XJ|7 ue 11,750 11,000 750
= 9,400
I 2,350

301 et a3z 11,750 11,000 750
= 9,400
I 2,350

01 MEIBE X263 11,750 11,000 750
O&FMEXRI2 11,750,000& 11,750
= 9,400
T Hl 2,350

ol deEo M3 1,680 1,800 2120

201 £B-2%H| 1,680 1,800 A 120

01 At 22l 1,680 1,800 A 120
OFMHAFAL ST A 15,0003 322 480
OZOoH el & XI Xl & 1,200,000 1,200

ZoI=sRg el X 15,350 0 15,350
= 7,675
Al HI 7,675

301 et A= 15,350 0 15,350
= 7,675
Al HI 7,675

01 AR 2Z A 53 15,350 0 15,350
OFMA=A LRel At 15,350, 000& 15,350
= 7,675
AlHI 7,675

ZOHQ HdEH S XA 792,957 277,902 515,055
= 555,070
AlHI 237,887

307 gl & 792,957 0 792,957
= 555,070
AlHI 237,887

05 BIZHRIE 3 792,957 0 792,957
OZOQ HdEAXEXIALSY 792,957,000& 792,957
= 555,070
Al 237,887

ZOHQ FCOXXEEH =<0 71,820 104,580 A 32,760
= 35,910




fAM: =2AMH A D
B Fo)E e
ool FOfOISK ZX CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET
Al'H] 35,910
301 LEtE A= 71,820 104,580 A 32,760
= 35,910
AlHI 35,910
01 MEIBEZE 05z 71,820 104,580 A 32,760
OFOMI=2 XX HEHER0/ALY 71,820,000 71,820
= 35,910
Al 35,910
e HoHel A& EHAR 20,000 10,000 10,000
= 10,000
Al HI 10,000
307 21201 A 20,000 10,000 10,000
= 10,000
[ Bl 10,000
02 2ltF & E X 20,000 10,000 10,000
OWEEMAMATHEN XAAS
20,000,000& 20,000
= 10,000
Al HI 10,000
ZoHe =X =294 910 910 0
201 L2l 910 910 0
01 At 22l 910 910 0
OBOHQASRIARAE 5o &asg
70,000 13 910
ZOiot=s AlGtZ23tEEHME XI& 400 0 400
203 R =& 400 0 400
03 A F=X AR =AY 400 0 400
O&OOtS Atot23HAHEN ME X2 400,000 400
ZOoHe HRFA 800 800 0
203 YR =2l 800 800 0
03 AIMFAH S =AY 800 800 0
O ZOHEH & Al SAK 23 HA
400,000& »23] 800
ZOeI=XAAE X3 853,312 803,301 50,011
AlHI 853,312
Zoper=X2 2 X2 634,492 614,861 19,631
AlHI 634,492
307 glz2tol & 634,492 614,861 19,631
AlHI 634,492
02 QIZtFAE X 634,492 614,861 19,631
O&Fer=x2 2HXE 634,492,000 634,492
Al 634,492
Zojels2t SSAIE2I XA 56,120 42,960 13,160




fAM: =2AMH A D
B Fo)E e
Sl FOHQIZXIAIL X2 (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET

Al'H] 56,120

307 glz2tol & 56,120 42,960 13,160
AlHI 56,120

02 QIZtFAE X 56,120 42,960 13,160
OFeI=2tES ANL2G XA 56,120,000& 56,120
Al HI 56,120

ZFHUSSHEIE 2EXA 162,700 125,480 37,220
AlHI 162,700

307 21201 A 162,700 125,480 37,220
AlHI 162,700

02 2ltF & E X 162,700 125,480 37,220
O HEIE2L N 162,700,000& 162,700
AlHI 162,700

2o 25 & A 647,824 760,110 A 112,286
= 396,104
Al 249,920
T Hl 1,800

SOAE 2F(34l) 401,885 507,317 A~ 105,432
= 281,319
Al 120,566

307 21201 A 401,885 507,317 A2 105,432
= 281,319
Al 120,566

02 IZHA A8 X 401,885 507,317 A~ 105,432
ORoANE2Y 401,885,000& 401,885
= 281,319
AlHI 120,566

SOAE 2F(AlIHIl) 113,029 101,780 11,249
AlHI 113,029

307 012+OI & 113,029 101,780 11,249
AlHI 113,029

02 RIZHE A E X 113,029 101,780 11,249
ORANE2Y 113,029, 000& 113,029
Al HI 113,029

SYOUANE HASH 116,710 136,953 A 20,243
= 107,585
Al HI 9,125

301 et a = 116,710 136,953 A 20,243
= 107,585
AlHI 9,125

01 MEIBEE 263 116,710 136,953 A 20,243
ORUAANLEMEASH 116,710,000& 116,710
= 107,585
AlHI 9,125




2AM: =AMEIAD
BE: HAHE N
el 2aol 5 9 X@ CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
SEHAUNEIs B 14,400 0 14,400
= 7,200
AlHI 7,200
402 2I2H X201 M 14,400 0 14,400
= 7,200
Al 7,200
01 2I2tRE2E X 14,400 0 14,400
OR2ANL JIsE22 14,400,000& 14,400
= 7,200
Al HI 7,200
SHUAANE HARRE 29F 1,680 5,040 A 3,360
201 LBt 1,680 5,040 A 3,360
01 At 22l 1,680 5,040 A 3,360
ORUAYE A HARE 31O FELY
70,0003 x6H x43| 1,680
22085 =X 120 120 0
203 PR =&l 120 120 0
03 Al =X A2 =& 120 120 0
OFHUE A~ HMARAS 2tE 3 WA
20,0003 x6H 13| 120
=k Es 57,030 57,630 A 600
AlHI 57,030
L=y B8 55,290 55,890 A 600
Al 55,290
307 Qi2+ol & 55,290 55,890 A 600
Al 55,290
02 RIZHE A8 X 55,290 55,890 A 600
Oe=siEHES 55,290,000& 55,290
AlHI 55,290
=k SAHXE 1,740 1,740 0
AlHI 1,740
307 2Iztol ™ 1,740 1,740 0
AlHI 1,740
02 RIZHE A E X 1,740 1,740 0
OL=XsAH X 1,740,000& 1,740
Al 1,740
otsEs 3,210,240 2,252,906 957,334
= 898,207
Al HI 2,166,760
I 145,273
OtsAld 2¢ 1,041,359 987,049 54,310
Al HI 1,041,359
307 2I2t0l A 1,041,359 987,049 54,310




2AM: FUMEIAD
B Fo)E e
el OlEES (chel m )
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al'H] 1,041,359
02 AI2tAAMNE X 1,041,359 987,049 54,310
OotsAegsd 1,041,359, 000& 1,041,359
Al H] 1,041,359
OtSAIE MAZSO 213,868 212,700 1,168
= 196,707
Al HI 17,161
307 212t0| & 213,868 212,700 1,168
= 196,707
Al HI 17,161
02 DI2tF AE X 213,868 212,700 1,168
OO0tsS Al & MAH Y| X & 213,868,000& 213,868
= 196,707
Al H] 17,161
OlsAlE W30 36,467 0 36,467
= 32,820
Al H] 3,647
307 QI2t0| & 36,467 0 36,467
= 32,820
Al H] 3,647
02 A2t AMNE X 36,467 0 36,467
OOtsSAlE =20 36,467,000 36,467
= 32,820
Al HI 3,647
A& 0tS GHAH =& Hl 3,000 3,000 0
Al HI 3,000
307 QI2t01 ™ 3,000 3,000 0
Al HI 3,000
02 AI2tAAME X 3,000 3,000 0
OAl&0ts StAl=&Hl K& 3,000,000& 3,000
Al H] 3,000
ANM&E0ts 2=X& 32,000 41,660 AN 9,660
Al HI 32,000
307 212t0| & 32,000 41,660 N 9,660
Al Hl 32,000
02 DI2tF ALE X 32,000 41,660 N 9,660
OAHEOts S=X3 32,000, 000& 32,000
Al H] 32,000
AMEOIS =&Y XA 3,000 3,360 A 360
Al H] 3,000
307 QI2t0| & 3,000 3,360 A 360
Al H] 3,000
02 QI2t3 A X 3,000 3,360 A 360
OANMHEOS =8t &bl K& 3,000,000 3,000

_8_




SN EUA

HE: HUHS KK
ol OtsE s (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al'H] 3,000
ANEOS NSHXA(ZS0M) 9,000 10,613 A1,613
AlHI 9,000
307 gl2tol & 9,000 10,613 21,613
Al 9,000
02 RIZHE A E X 9,000 10,613 A1,613
OA4dots =0 weEdl XA 9,000,000& 9,000
Al 9,000
OrS =S X WAHALEI A Xl X&) 108,000 45,000 63,000
= 75,600
AlHI 32,400
307 glz2tol & 108,000 45,000 63,000
= 75,600
AlHI 32,400
02 QIZtFAB X 108,000 45,000 63,000
OXYotSHE OFSSXI WAL XI&(Ats® Xt
el) 108,000, 000& 108,000
= 75,600
Al 32,400
ANotsdH 29X& 132,000 120,000 12,000
= 66,000
AlHI 66,000
307 glz2tol & 132,000 120,000 12,000
= 66,000
AlHI 66,000
02 QI2tFAE X 132,000 120,000 12,000
OXgotsdH2E & 132,000, 000& 132,000
= 66,000
Al 66,000
A8 - AHINE JIERIE0tES AHENA 31,500 19,500 12,000
Al 31,500
301 et a3z 31,500 19,500 12,000
Al 31,500
01 MEIBEE 263 31,500 19,500 12,000
OAEAUHIIE JIERE0s HEXE
31,500,000& 31,500
Al 31,500
IHEPIE, AL AL0E (RSS2 X 24,550 23,000 1,550
Al HI 24,550
301 et a = 24,550 23,000 1,550
AlHI 24,550
01 MEIBEE 2063 24,550 23,000 1,550
ONERAE, 28AH, NE0ts HHEsES X
2 24,550,000& 24,550
Al 24,550




fAM: =2AMH A D
B Fo)E e
el OlEES (chel m )
SA - BB B () - MM - BES Ol &t o San HmEET
EA0ts HEHES 14,000 16,000 A 2,000
AlHI 14,000
307 gl2tol & 14,000 16,000 A 2,000
Al 14,000
02 I A E X 14,000 16,000 A 2,000
OAHE Eliots X &3 XN
14,000, 000& 14,000
AlHI 14,000
AEAH & IHEAE Os &5 N2 155,520 172,800 A17,280
AlH 155,520
301 LAz 155,520 172,800 A 17,280
Al 155,520
01 Ml28HE 6= 155,520 172,800 A17,280
OAEAEIE U HFIALOS LS X2
155,520, 000& 155,520
AlH 155,520
Ots2e XIJAX XA 64,800 35,100 29,700
= 45,360
Al HI 19,440
301 et A3z 64,800 35,100 29,700
= 45,360
Al HI 19,440
01 AR 2Z A 53 64,800 35,100 29,700
OO0ts &< XI& A £ 64,800,000 64,800
= 45,360
AlHI 19,440
AA0ts =2 XA 22,800 8,400 14,400
= 15,960
AlHI 6,840
301 gt a= 22,800 8,400 14,400
= 15,960
AlHI 6,840
01 MEI2EZE 6= 22,800 8,400 14,400
OoggtsLdE== A& 22,800,000& 22,800
= 15,960
Al HI 6,840
220ts SAXEA 399,411 350,667 48,744
AlHI 299,558
i 99,853
301 L2 A Z 399,411 350,667 48,744
AlHI 299,558
L Hl 99,853
01 MEIBEE 263 399,411 350,667 48,744
OEltssA XN 399,411,000 399,411
AlHI 299,558




2AM: FUMEIAD
B Fo)E e
el OlEES (chel m )
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
| - Hl 99,853
ges OtsZ2a XA 140,010 133,333 6,677
Al H] 105,010
T4l 35,000
301 Bt A= 140,010 133,333 6,677
Al H] 105,010
T4l 35,000
01 M BEEE2G2 140,010 133,333 6,677
ogss ols=s4aH K& 140,010, 000& 140,010
Al HI 105,010
2| 35,000
E . - 252 OIs24XN& 55,820 55,828 A8
Al H] 55,820
301 et A= 55,820 55,828 A8
Al HI 55,820
01 M EEAE G2 55,820 55,828 A8
OE - E2520ts384X& 55,820,000& 55,820
Al H] 55,820
AOIAIA AMUHOIHA) X3 400 0 400
Al HI 400
307 212t0| & 400 0 400
Al Hl 400
02 DI2tF ALE X 400 0 400
OYOtAIE AMU(IITHA) X 400,000& 400
Al H] 400
Ots=XNAEI)IsE22 136,300 0 136,300
= 68,150
Al H] 68,150
402 SI2FXHE0| M 136,300 0 136,300
= 68,150
Al H] 68,150
01 It x 136,300 0 136,300
OO0ISEXNAAE JIsEZAY 136,300, 000& 136,300
= 68. 150
Al Hl 68,150
Ols Ald &HIMNLH X& 8,000 0 8,000
Al HI 8,000
307 QI2t01 & 8,000 0 8,000
Al HI 8,000
02 QI2tAAME X 8,000 0 8,000
OO0tsAld SF&H K& 8,000,000& 8,000
Al H] 8,000
BHESEXA 2 ALY 568,015 0 568,015
= 397,610




fAM: =2AMH A D
HE: HoHS X
@2 OIsE s (SHe &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 170,405
307 glz2tol & 568,015 0 568,015
= 397,610
AlHI 170,405
05 RIZHRIEt 3 568,015 0 568,015
OBHEONSEX BIR2HAY 568,015,000& 568,015
= 397,610
Al 170,405
Helol=0le 22l 3,000 10,216 AT,216
401 AIEHI L 201 3,000 10,000 A7,000
04 Al&HI 3,000 10,000 A7,000
O0gol =0l 2= 3,000,000& 3,000
Ots=XAE 24 5,020 2,280 2,740
201 Let24d] 5,020 2,280 2,740
01 At 22/l 5,020 2,280 2,740
OOtE2ASIAsIBlo A ag
70,0003 »8H 32 1,680
O0tsR&33 FA=H 70,0003 x16Y *23| 2,240
O=4A Haots ots=2aA M= 500,000& 500
OelolgdANE2SME 600,000& 600
Helolg JIg&dAl XI& 2,400 2,400 0
203 YR =&l 2,400 2,400 0
03 AIMZ=XH R =AH| 2,400 2,400 0
OUE oIl g &AL 2,000& x1,200H 2,400
25 2 I}HFAE 20,042,203 13,035,598 7,006,605
= 12,645,971
AlHI 7,176,146
“Hl 220,086
d4=2X & 940,550 61,424 879,126
= 482,097
AlHI 373,767
T Hl 84,686
NHEEH - 4= R L ToHA X2 57,870 52,404 5,466
= 28,935
AlHI 28,935
307 glz2tol & 57,870 52,404 5,466
= 28,935
AlHI 28,935
02 RIZHE A E X 57,870 52,404 5,466
ONE=gagaz2d 57,870,000& 57,870
= 28,935
Al HI 28,935
Aol = 108,500 0 108,500




2 FOUMHIAD
3 8258 L JIEXE
Sl fa=x S (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al'HI 108,500
301 et A= 108,500 0 108,500
Al HI 108,500
01 Al B & A 462 108,500 0 108,500
ONZXH ol& sMIIEN 465062 A
108,500,000& 108,500
Al HI 108,500
ALINAEXNJALE 29 164,000 0 164,000
= 82,000
Al HI 41,000
T 41,000
307 2iz2to| & 164,000 0 164,000
= 82,000
Al HI 41,000
T 41,000
02 212t A X 164,000 0 164,000
OAHALINEXNEMH 2 BX 164,000,000 164,000
= 82,000
Al HI 41,000
24| 41,000
SHERIIFI UMY 29 112,000 0 112,000
= 56,000
Al Hl 56,000
307 QI2t0| & 112,000 0 112,000
= 56,000
Al H] 56,000
02 QI2tAAME X 112,000 0 112,000
OstEER2IIEG UMY 2H EX
112,000,000 112,000
= 56,000
Al HI 56,000
olols=20| X 138,000 0 138,000
= 69,000
Al HI 69,000
307 gizto| A 138,000 0 138,000
= 69,000
Al HI 69,000
02 QI2tAAME X 138,000 0 138,000
OO0I0l=20 NIANY X 138,000,000 138,000
= 69,000
Al HI 69,000
A0IEEC 29 L HAS# A A 6,840 7,340 A 500
201 et 9| 160 660 A 500
01 AFR 2t 2| bl 160 660 A 500
Od siAl 222 2 &I HZ 160,000 160




2 FOUMHIAD
Ha: 28 2 JFAL
Sl fa=x S (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 6,680 6,680 0
10 HAFAHI B &2 6,680 6,680 0
OOl &SI & AHE & 70,0008 43| x12& 3,360
OXO| &z HBFXE A 50,000& 43| x12& 2,400
O siAF &A 120,000& 2 x33| 720
OAEZSEXMAIE 100,000& »2H 200
e 28 g4 1,680 1,680 0
203 ¥ R = &H]| 1,680 1,680 0
03 Al ZH =X 2= XH| 1,680 1,680 0]
O4d 2 g2 =4 1,280,000 1,280
OXNEIIAISARS2H 10,000 x40H 400
ZE010X JIISANSHEH 2 50,000 0 50,000
= 35,000
Al HI 10,000
24| 5,000
201 2Et24A Y| 50,000 0 50,000
= 35,000
Al HI 10,000
24| 5,000
01 AP 2t 2] d| 50,000 0 50,000
OZE0|2AIIE XNJALHdEH SEH|
50,000,000 50,000
= 35,000
Al HI 10,000
24| 5,000
0l Jt= MHIA 101,660 0 101,660
= 71,162
Al HI 20,332
ksl 10,166
301 et A= 101,660 0 101,660
= 71,162
Al HI 20,332
24l 10,166
01 Al B & A 462 101,660 0 101,660
O 0tJl= MHIA 101,660,000 101,660
= 71,162
Al HI 20,332
T 10,166
OS2 X ALY 200,000 0 200,000
= 140,000
Al HI 40,000
=1 20,000
301 et A= 200,000 0 200,000
= 140,000
Al HI 40,000




fAM: =2AMH A D
g 25 ¢ HEXNE
S9l: oH=X S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-t 20,000
01 MEIBZE 06z 200,000 0 200,000
O0ts =&AL 200,000, 000& 200,000
2 140,000
Al 40,000
- Hl 20,000
SRR Jtd =X 58 1,054,194 782,138 272,056
2 524,255
Al 529,939
SA=RNAE 29 208,000 202,197 5,803
Al 208,000
307 21201 A 208,000 202,197 5,803
Al 208,000
02 2ItF & E X 208,000 202,197 5,803
OZ2X=XAIL 2 208,000, 000& 208,000
AlHI 208,000
ZUSETAE 2l K& 1,000 1,000 0
AlHI 1,000
307 21201 A 1,000 1,000 0
Al 1,000
02 plZtA A2 X 1,000 1,000 0
OZX=XAIE eyl XA 1,000, 000& 1,000
AlH 1,000
SRUETAE 0IEX A=W XA 94,495 113,056 A 18,561
= 86,059
AlHI 8,436
307 glz2+ol & 94,495 113,056 A 18,561
= 86,059
AlHI 8,436
02 RIZHEAME X 94,495 113,056 A 18,561
OZ2X=XAIE HAHSAH 94,495,000 94,495
= 86,059
Al 8,436
SRUETANE RS0 11,329 0 11,329
= 10,196
Al 1,133
307 21201 A 11,329 0 11,329
= 10,196
Al 1,133
02 2ltF & E X 11,329 0 11,329
OZX=XNAE DE=G 11,329,000& 11,329
= 10,196
AlHI 1,133
ZUETNAE 258 234 & 24H XN 930 925 5
AlHI 930




2N
X ZH -
L= B

el

FOAHIA D
@8 o JIEAY
B2R JE =X 53

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
307 glz2tol & 930 925 5
AlHI 930
02 RIZHE A E X 930 925 5
ORN=EXAE 258 ZEH ¥ FAH X2
930,000 930
AlHI 930
SRHEXAE YAT 2AH X 4,440 4,400 40
AlH 4,440
307 gl2tol & 4,440 4,400 40
AlH 4,440
02 I A E X 4,440 4,400 40
OZX=RNALLAT 2AH X
4,440,000 4,440
AlHI 4,440
SA=SXNAE 4% HEEEF N 14,000 14,000 0
Al 14,000
307 21201 A 14,000 14,000 0
Al HI 14,000
02 IZHA A8 X 14,000 14,000 0
ORU=XASE E&X HEE=EHZ X
14,000, 000& 14,000
Al 14,000
SRA=XNAESAN SX=E X2 10,800 12,240 21,440
AlHl 10,800
307 21201 A 10,800 12,240 A 1,440
Al HI 10,800
02 DIt A8 X 10,800 12,240 A 1,440
OZX=EXAESAR SR XA
10,800, 000& 10,800
Al HI 10,800
StRIIIEXNY 2| - Wsdl X 535,000 317,500 217,500
= 428,000
Al HI 107,000
301 L2 A F 535,000 317,500 217,500
= 428,000
AlHI 107,000
01 AL EE E 2563 535,000 317,500 217,500
Ost=22 JIHEX&A 535,000,000 535,000
= 428,000
AlHI 107,000
SIEEIE S0 WwsSHl KA 143,000 91,728 51,272
AlH 143,000
301 L2 A3 143,000 91,728 51,272
Al 143,000




= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 143,000 91,728 51,272
O 822D wsH X
143,000, 000& 143,000
AlHI 143,000
Has R2 44 31,200 11,592 19,608
AlHI 31,200
301 et d=s 31,200 11,592 19,608
AlH 31,200
01 M2 EH 31,200 11,592 19,608
Ot 2D 31,200,000& 31,200
Al 31,200
BSANL S22 217,000 69,000 148,000
= 106,000
AlHI 53,000
L Hl 58,000
ESAE SFMHE 32,000 64,000 A 32,000
= 16,000
AlHI 8,000
4l 8,000
402 RIZ2EXH20l A 32,000 0 32,000
= 16,000
AlHI 8,000
T Hl 8,000
01 lztlt= 2 32,000 0 32,000
OE=A#E 32,000,000& 32,000
= 16,000
AlH 8,000
T Hl 8,000
ERANE &35 180,000 0 180,000
= 90,000
Al 45,000
Tl 45,000
402 212t X2 0l 180,000 0 180,000
= 90,000
Al 45,000
I 45,000
01 BI2tXt= &8 180,000 0 180,000
OBSA4 &= 180,000, 000& 180,000
= 90,000
AlHI 45,000
L Hl 45,000
FRXNIAESAHE 5,000 5,000 0
307 glz2tol & 5,000 0 5,000
02 Bzt a8 5,000 0 5,000
OZFFXNH 5,000,000 » 104 2 5,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

=0t 2dd 4|8 24 17,830,459 12,123,036 5,707,423
=2 11,533,619
AlHI 6,219,440
- Hl 77,400

HsE2=E2 NE 7,118,708 5,716,500 1,402,208
= 4,853,665
AlHI 2,265,043

307 2I2H0I A 7,118,708 5,716,500 1,402,208
= 4,853,665
Al 2,265,043

02 RIZHA A8 X 7,118,708 5,716,500 1,402,208
OxseEs=zXH 7,118,708,000& 7,118,708
= 4,853,665
AlH 2,265,043

sMol= HEHESZ 197,400 92,000 105,400
AlHI 197,400

307 glz2tol & 197,400 92,000 105,400
AlHI 197,400

02 QIZtFAB X 197,400 92,000 105,400
OEMoI= RHHE=SE 197,400, 000& 197,400
Al 197,400

HMIOtR A ESE XIR 1,976,552 1,689,000 287,552
= 1,347,649
Al 628,903

307 21201 A 1,976,552 1,689,000 287,552
= 1,347,649
Al 628,903

02 2ltF & E X 1,976,552 1,689,000 287,552
OosHotRAEEZ XA 1,976,552,000& 1,976,552
= 1,347,649
AlHI 628,903

OOt RAESEEXA 449,479 132,000 317,479
= 306,463
AlHI 143,016

307 glz2tol & 449,479 132,000 317,479
= 306,463
Al 143,016

02 IZHE A E X 449,479 132,000 317,479
OZMotEs 422X 449,479,000 449,479
= 306,463
Al 143,016

SAEHOIY B2 X 624,403 214,086 410,317
= 425,729
AlHI 198,674

307 glz2+0ol & 624,403 214,086 410,317




2 FOUMHIAD
B 88 U JIENE
ool - R0F A SAJIH X4 (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 425,729
Al HI 198,674
02 It A X 624,403 214,086 410,317
OFXEHooIAa Ex2 X3 624 ,403,000& 624,403
= 425,729
Al HI 198,674
BKAIAE SALA 2124H| 3,797,435 3,621,000 176,435
= 2,589,160
Al HI 1,208,275
307 QI2t0| & 3,797,435 3,621,000 176,435
= 2,589,160
Al HI 1,208,275
02 QI2tAAME X 3,797,435 3,621,000 176,435
OB ANAESAACI24H] 3,797,435,000& 3,797,435
= 2,589,160
Al HI 1,208,275
WMHEPH (BIZtESAIA) 164,814 140,000 24,814
= 98,888
Al HI 46,148
T 19,778
307 2Iz2to| A 164,814 140,000 24,814
= 98,888
Al HI 46,148
T 19,778
02 QI2tAH AP X 164,814 140,000 24,814
OoI2tE=AIE WY A& 164,814,000 164,814
= 98,888
Al HI 46,148
] 19,778
BEA4E XNEF2IH| 3,600 2,400 1,200
= 2,160
Al HI 1,008
24| 432
307 QI2t0| ™ 3,600 2,400 1,200
= 2,160
Al HI 1,008
24| 432
02 QI2tAAME X 3,600 2,400 1,200
OBEFA4YE 2| 3,600,000 3,600
= 2,160
Al HI 1,008
T 432
HEXNRY EFAIE 233 AHH| 21,850 21,600 250
Al HI 21,850
307 212t0| & 21,850 21,600 250
Al Hl 21,850




2N
X ZH -
L= B

el

01 Af I A Tt
2 % JIExe
CROF AW FHIIE T4

02 HL A

M

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
02 RIZHE A E X 21,850 21,600 250
OZRNAESANE dE¥sts & oA
21,850,000& 21,850
AlHI 21,850
HF2XNE ESAE WM uw2Y| 19,400 19,700 A 300
AlHI 19,400
307 glz2tol & 19,400 19,700 A 300
AlH 19,400
02 IZHE A E X 19,400 19,700 A 300
OFEXNH ESAE M-H 19,400,000 19,400
Altl 19,400
FRXNIES AL S| 13,700 13,150 550
AlHI 13,700
307 2Iz2t0ol A 13,700 13,150 550
AlHI 13,700
02 QIZtF A8 X 13,700 13,150 550
OEREXNIESAIE Xl 13,700, 000& 13,700
Al 13,700
QIS S AIE 233 At 35,000 35,000 0
Al Hl 35,000
307 21201 A 35,000 35,000 0
AlHl 35,000
02 QI2tF A8 X 35,000 35,000 0
ORIZESAL SEsts U 238 AY|
35,000,000& 35,000
Al 35,000
QIS S Al SMAMSRIHNA 281,750 176,000 105,750
Al Hl 281,750
307 21201 A 281,750 176,000 105,750
AlHI 281,750
02 It A8 =X 281,750 176,000 105,750
OLUZAESAIE SAXHE RIS
281,750,000& 281,750
Al HI 281,750
NEESANE B3 ALK 10,575 11,000 AN425
AlHI 10,575
307 2Izt0l A 10,575 11,000 AN 425
AlHI 10,575
02 RIZHEAAMNE R 10,575 11,000 A425
OJIEESANE 885 & SHHAMUXA
10,575,000& 10,575
AlHI 10,575
HASE0ts 24l 196,030 125,000 71,030
AlHI 196,030
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fAM: =2AMH A D
B 88 U JIENE
el - S0F AR KAIIY T4 (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 196,030 125,000 71,030
AlHI 196,030
02 RIZHE A E X 196,030 125,000 71,030
OMASE0tS2HAHI 196,030,000 196,030
Al HI 196,030
Zus EFAIE WA AHI 42,000 42,000 0
AlHI 42,000
307 glz2+ol & 42,000 42,000 0
AlHI 42,000
02 2ItFAE X 42,000 42,000 0
Ogtts B A4 WA AH| 42,000,000 42,000
Al 42,000
ESA4E Botels X 31,993 0 31,993
= 19,196
Al 12,797
307 21201 A 31,993 0 31,993
= 19,196
AlHI 12,797
02 2ltF & E X 31,993 0 31,993
OBsAl4 giels X& 31,993,000 31,993
= 19,196
AlHI 12,797
QI2tEot JIE28X3 2,773,040 0 2,773,040
= 1,890,709
AlHI 882,331
307 glz2tol & 2,773,040 0 2,773,040
= 1,890,709
AlHI 882,331
02 RIZHE A E X 2,773,040 0 2,773,040
Ogl2tgor JI22x3 2,773,040,000& 2,773,040
= 1,890,709
Al HI 882,331
QOtESAE d2ESEZ0] BIX 15,540 0 15,540
Al HI 15,540
307 glz2+ol & 15,540 0 15,540
AlHI 15,540
02 2ltF & E X 15,540 0 15,540
OIotESsAME d2ESE2201 HiXl
15,540,000 15,540
Al Hl 15,540
ESAE 22 53,400 53,400 0
307 glz2tol & 53,400 53,400 0
02 QI2tFAE X 53,400 53,400 0
OSlUES AL XA 38,450




2AM: FUMEIAD
. 21 2 IHEXE
Sl Y R0 AW S|P TH CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- 1009 O] & 350,000& *5JH 2~ 1,750
- 50~99Y 300, 000& 234 A~ 6,900
- 21~499Y 250, 000& =72 2 18,000
209 0l ot 200, 000& 5901 A~ 11,800
OFX ey X 11,350
- 100 O] & 350, 000& *25JH A~ 8,750
- 50~99<Y 300,000& *7 4 & 2,100
- 499 0| ot 250,000& *2JH 2~ 500
AXNOISHE 0 NIIR3 100,000& = 12& 1,200
OEdolE2elH X 100, 000 & *2H A~ x 128 2,400
BSHMAJS 22 2,990 3,000 A 10
201 LEt29Y| 2,990 3,000 A 10
01 AFR2 2t 2l bl 2,990 3,000 A 10
OBsdMAAZ A+ 70,000& *9H 33| 1,890
OBFANESAMALRNRZAEE 550,000 & *x23] 1,100
R =X 800 1,200 AN 400
203 R =&H| 800 1,200 AN 400
03 A =X SR =XIH| 800 1,200 AN 400
OBExd2=X 800,000 800
Lol Y HAE BS 23,804,407 10,958,957 12,845,450
= 11,793,609
AlHl 9,922,486
2| 2,088,312
HAaHE Hs 2 =4 107,520 45,918 61,602
= 45,700
AlH] 29,850
2| 31,970
Hiad 324 29 28,000 20,000 8,000
= 14,000
AlHl 14,000
307 QI2t01 ™ 28,000 20,000 8,000
= 14,000
AlHl 14,000
02 DI2tF A X 28,000 20,000 8,000
OFAESRYU2IXNE 28,000,000& 28,000
= 14,000
Al Bl 14,000
NAH HAEH2SE 2 38,400 0 38,400
= 19,200
AlH] 9,600
| 9,600
201 LEt2 Y| 3,000 0 3,000
= 1,500
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fAM: =2AMH A D
Ha: Lol Y HAW 25
ool HAW 25 Y 84 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 750
L Hl 750
01 At 22l 3,000 0 3,000
OHALAUZ=SERY 3,000,000& 3,000
= 1,500
Al 750
- Hl 750
307 21201 A 35,400 0 35,400
= 17,700
Al 8,850
4l 8,850
02 plZtE a2 X 35,400 0 35,400
OHEL2UEZERY X2 35,400,000 35,400
2 17,700
AlHI 8,850
L Hl 8,850
dA4E =02 s 25,000 0 25,000
2 12,500
AlHI 6,250
T Hl 6,250
307 i+l & 25,000 0 25,000
= 12,500
AlHI 6,250
T Hl 6,250
02 QlZtFAE X 25,000 0 25,000
O&FAad sotelgs 25,000,000& 25,000
= 12,500
Al 6,250
-l 6,250
a4 B3 15,480 15,300 180
201 Let2d] 3,880 3,700 180
01 At 22l 3,880 3,700 180
OdEsgtol I8 & A 3,000,000& 3,000
OFaAEELS 3,000& 1604 480
OHELAPEEHAREES 2L 400
sE= 50& *2,00001 x23] 200
QP 5,000& =400H 200
301 LA Z 2,000 2,000 0
12JE243 2,000 2,000 0
OHEAERNCRIARHI AR SHES A
5,000& =169 = *203] 1,600
OHEAERNIAMDAB LS 400,000& 400
307 glz2tol & 9,600 9,600 0
02 QlZtFAE X 9,600 9,600 0
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fAM: =2AMH A D
Ha: Lol Y HAW 25
ool HAW 25 Y 84 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFAEXNETEAZ2HHI XA
300,000& * 1691 = *23| 9,600
HAEXE HRFA 640 640 0
203 YR =&l 640 640 0
03 AIF=XH R =AY 640 640 0
OF=E=DNJ]-Rol il g=g- 640,000& 640
MOt QI MEord X3 17,234,211 6,539,132 10,695,079
= 10,968,044
AlHI 4,335,148
T Hl 1,931,019
=gz X3 15,193,684 0 15,193,684
= 10,635,578
AlHI 3,190,673
T Hl 1,367,433
301 et d = 15,193,684 0 15,193,684
= 10,635,578
AlHI 3,190,673
T Hl 1,367,433
01 MEI2ZE 406z 15,193,684 0 15,193,684
OJIzkL¥8dH3 s 15,193,684,000& 15,193,684
= 10,635,578
Al 3,190,673
-l 1,367,433
LolwsSHl X& 1,107,780 3,646,584 A 2,538,804
Al 553,890
I 553,890
301 et a3z 1,107,780 3,646,584 A 2,538,804
AlHl 553,890
I 553,890
01 AR 2Z A5 3 1,107,780 3,646,584 A 2,538,804
Okl nEt| 1,107,780,000& 1,107,780
AlHI 553,890
T Hl 553,890
FE2AE Raa4 107,000 107,000 0
AlHI 107,000
307 glz2tol & 107,000 107,000 0
Al 107,000
02 plZtA A2 X 107,000 107,000 0
OZz2Ag 2224 107,000, 000& 107,000
Al 107,000
HAS MOt QI ALAEHE 152,400 144,000 8,400
AlHI 152,400
307 glz2+ol & 152,400 144,000 8,400
AlHI 152,400
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2AM: FUMEIAD
MY Lol Y HAW 235
Ce: MO QI MEOrN X & (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 QI2tAF A X 152,400 144,000 8,400
OMAS THIIE=QIAAHHE 152,400,000 152,400
Al Hl 152,400
AMXOM=CEX BS 9,600 8,400 1,200
Al HI 9,600
301 et A= 9,600 8,400 1,200
Al HI 9,600
01 M3 EXEE G2 9,600 8,400 1,200
OGAM XUl Xt E5 9,600,000& 9,600
Al H] 9,600
LOo/g LOoNWX& 173,100 168,600 4,500
AlH] 173,100
301 dBtE A= 173,100 168,600 4,500
Al HI 173,100
01 MIEEE 262 173,100 168,600 4,500
FOole LOINHX& 173,100, 000& 173,100
Al HI 173,100
LOoIEE0| U2 X 179,751 339, 368 AN 159,617
= 125,826
Al H] 53,925
307 QI2t0| ™ 179,751 339, 368 N 159,617
= 125,826
Al H] 53,925
05 212t E 2 179,751 0 179,751
Okols80 22/ 179,751,000& 179,751
= 125,826
Al Hl 53,925
IS SAME ESH XS 6,000 0 6,000
Al HI 6,000
307 QI2t0| ™ 6,000 0 6,000
Al HI 6,000
02 DI2tF ALY X 6,000 0 6,000
OJESAMIAESH XA 6,000,000& 6,000
Al H] 6,000
Sol=20/0tA 295,200 0 295,200
= 206,640
Al H] 88,560
307 212t0| & 295,200 0 295,200
= 206,640
Al HI 88,560
02 QIZ2t3 A X 295,200 0 295,200
OSHLEQ MEX T A OHAAMH
295,200, 000& 295,200
= 206,640
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bl
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SA - BB B () - MM - BES Ol &t o San HmEET

| Al'H] 88,560

Hqaskel AdEga & 9,696 0 9,696

301 gt d= 9,696 0 9,696

01 MI2ZE 6= 9,696 0 9,696

ONMAS oMU ALEEESXE

1,616,000 62 9,696

Lol ootgs ¥ 1&JIE MBS 1,195,053 1,073,040 122,013
= 391,775
Al 677,955
T Hl 125,323

Lolna 2HXA 24,000 26,400 A 2,400
Al 24,000

307 21201 A 24,000 26,400 A 2,400
AlHl 24,000

02 22t a2 X 24,000 26,400 A 2,400
OkQluwal 2HHIX&A 24,000,000& 24,000
AlHI 24,000

COIFHAYHMEH X 35,000 35,000 0
AlHI 35,000

307 glz2tol & 35,000 35,000 0
AlHI 35,000

02 flZtF N2 X 35,000 35,000 0
OkolFgadsdy XA 35,000, 000& 35,000
Al HI 35,000

Lot SAMES KR 3,000 3,000 0
AlHI 3,000

307 glz2tol & 3,000 3,000 0
AlHI 3,000

02 QI2tF B X 3,000 3,000 0
O XaasMes K& 3,000,000& 3,000
AlH 3,000

Lol Itel A 783,550 624,000 159,550
= 391,775
Al Hl 391,775

307 21201 A 783,550 624,000 159,550
= 391,775
Al HI 391,775

02 2ItF & E X 783,550 624,000 159,550
Ol Rtel At 783,550,000 783,550
= 391,775
AlHI 391,775

I2g 29 265,400 154,500 110,900
AlHI 212,320
T Hl 53,080
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fAM: =2AMH A D
Hu: Lol Y HAW 25
S Lo WotEs ¥ 1nEJE M3 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 265,400 154,500 110,900
AlHI 212,320
T Hl 53,080
02 plZtAAE X 265,400 154,500 110,900
OZ3zg 234 265,400,000& 265,400
Al Hl 212,320
I 53,080
FNE F32E A2 2,860 2,780 80
Al HI 2,860
307 21201 A 2,860 2,780 80
AlHI 2,860
02 2ltF&E X 2,860 2,780 80
OFHE 32E A= 2,860,000 2,860
Al 2,860
ZERY=3 T2 Y 22| X XAt 18,000 18,000 0
Al Hl 9,000
-l 9,000
307 21201 A 18,000 18,000 0
Al HI 9,000
I 9,000
02 22t M2 X 18,000 18,000 0
OZ2E&3Z2 0 el XA
18,000, 000& 18,000
Al 9,000
T Hl 9,000
Lol=kg 2 29 26,031 24,315 1,716
307 21201 A 26,031 24,315 1,716
02 QItF & E X 26,031 24,315 1,716
Ok =Xz 22d 26,031
iR 1,840,250 x 1« 12& 22,083
- A& 2teldl 100,000& =122 1,200
=] 300,000& »3& 900
558 104,000& =128 1,248
HIIRS 200,000& 33 600
L= YHE B2 K 9,368 7,560 1,808
301 getE L= 9,368 7,560 1,808
09 BUAZIRRAB LS 9,368 7,560 1,808
OFUNHAUBZIEXZAUAZSRA 9,368
== 80,000& x3H 128 2,880
= Al 5,0003 x3H 22U x12& 3,960
wSHl 2,6003 «3H*x22U 128 2,060
- O =4l 156,000& 3% 468
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2 FOUMHIAD
HE: Lol Y AW B
e Lo ootEsE € NEJ|8 M2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
dz & 2 25,844 25,485 359
201 gBt24d| 1,554 805 749
02 =224 H| 1,554 805 749
OZ=zEesINAEL2 150, 000& 23] 300
OAZE AN A ALY 33,000 3804 &~ 1,254
301 et A= 4,290 4,680 A 390
01 M| EXEE 2562 4,290 4,680 A 390
OLEYHEAZHYRA= 30,000 *143JH 2~ 4,290
401 AlEHIZL 2 0HY| 20,000 20,000 0
04 Al&H| 20,000 20,000 0
OZ=2ERKRAE 4| 20,000,000 20,000
Loge=Xx 2,000 2,000 0
203 € R F&d| 2,000 2,000 0
03 AIEH =X H 2 F X Y| 2,000 2,000 0
ooty ed 800,000& 800
OMIZEXNAEZRI2HET 800,000& 800
OAN&E£ENLER0RAH 400,000& 400
LOILYAIE 2Y 5,167,623 3,016,673 2,150,950
= 338,090
Al HI 4,829,533
LOQAALE 2H 2,011,895 1,544,400 467,495
Al HI 2,011,895
307 QI2t0| ™ 2,011,895 1,544,400 467,495
Al Hl 2,011,895
02 QI2tAAME X 2,011,895 1,544,400 467,495
OLoRAANALE 22H 2,011,895,000& 2,011,895
Al HI 2,011,895
LoIRE MEEQAANE 29 1,200,000 0 1,200,000
Al HI 1,200,000
307 212t0| & 1,200,000 0 1,200,000
Al Hl 1,200,000
02 QI2tA AP X 1,200,000 0 1,200,000
OLQPE H2QUAM 29
1,200,000,000& 1,200,000
Al HI 1,200,000
LOIAEMHASH X 366,768 405,630 38,862
= 338,090
Al HI 28,678
307 2I2t0| ™ 366,768 405,630 A\ 38,862
= 338,090
Al HI 28,678
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HE: Lo U HAW 25
Sl LolAAL 29 (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
02 RIZHE A E X 366,768 405,630 A 38,862
OLQANE HASH 366,768,000 366,768
= 338,090
Al 28,678
LOINAE 22aTES N 111,071 77,396 33,675
Al HI 111,071
307 21201 A 111,071 77,396 33,675
AlHI 111,071
02 2ItF & E X 111,071 77,396 33,675
OLQAE 24X BEsH| 111,071,000& 111,071
AlHI 111,071
Al Lo MEQUAANE 2 700,000 348,500 351,500
Al 700,000
307 21201 A 700,000 348,500 351,500
Al 700,000
02 plZtE a2 X 700,000 348,500 351,500
OAHILAEEZRIANE 29 700,000,000& 700,000
AlHI 700,000
MHotcol DR SAE ItA 183,000 75,000 108,000
AlHI 183,000
307 glz2tol & 183,000 75,000 108,000
AlHI 183,000
02 plZtFAE X 183,000 75,000 108,000
OMI=ASTAS (S AR A)
183,000, 000& 183,000
AlHI 183,000
Mool =2tE S 208,200 190,000 18,200
AlHI 208,200
307 gl2tol & 208,200 190,000 18,200
AlHI 208,200
02 IHE A E X 208,200 190,000 18,200
OMIt==EXAE (F2H25) 208,200,000 208,200
AlHl 208,200
Mot =2XAIE AA=Z2X =X S 32,400 25,200 7,200
AlHI 32,400
307 glz2+ol & 32,400 25,200 7,200
AlHI 32,400
02 QI2tFAE X 32,400 25,200 7,200
OMIMI==EXAE HE=XY
32,400,000& 32,400
AlHI 32,400
XNl F2AF2ES 99,000 92,000 7,000
AlHI 99,000
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erere
o
;4o
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nz
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09 HL

foh

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
307 glz2tol & 99,000 92,000 7,000
AlHI 99,000
02 RIZHE A E X 99,000 92,000 7,000
OXIH el F2AF=LESAY 99,000,000& 99,000
Al HI 99,000
ARIBLEAQLAYAE 2 255,289 0 255,289
AlHI 255,289
307 2Iztol A 255,289 0 255,289
AlHI 255,289
02 QI2tA A8 X 255,289 0 255,289
OL2LRAdANd 293 255,289,000& 255,289
Al 255,289
LoIsX elxe &5 100,000 284,194 A 184,194
- 50,000
Al 50,000
COIME ALY BY (A EAHA) 100,000 164,194 A64,194
= 50,000
AlHI 50,000
402 RIZEXtE0| A 100,000 164,194 A64,194
= 50,000
AlHI 50,000
01 QI2tXI2 8 X 100,000 164,194 A64,194
OLOIQUAE R 2 (QEAHY)
100,000, 000& 100,000
= 50,000
Al HI 50,000
ng =8 ¢ oA 706,641 666,654 39,987
= 40,000
Altl 508,000
T HI 158,641
A A CH 2 706,641 666,654 39,987
= 40,000
Al HI 508,000
-l 158,641
S32Z2AME Fa 651,000 609,000 42,000
AlHI 498,000
-l 153,000
201 2yt 2 Y| 2,520 2,520 0
AlHI 1,930
L Hl 590
01 At 22l 2,520 2,520 0
OS2 Z2AY eI 2,520,000& 2,520
AlHI 1,930
-4l 590
401 AIEHIZ 28I 648,480 606, 480 42,000
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HH: 08 SF U o
chel: alolthH (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al'H] 496,070
| 152,410
04 Al &HI 640,000 600, 000 40,000
O332ZAY 640,000,000& 640,000
AlH] 490,000
-4l 150,000
06 Al& 201 8,480 6,480 2,000
OS2 Z2AIS AIE 20U Y| 8,480,000 8,480
Al H] 6,070
2| 2,410
NGaAAX HGgEH 50,000 52,080 A 2,080
= 40,000
Al H] 10,000
301 LBt A= 50,000 52,080 A2,080
= 40,000
Al H] 10,000
01 MBI EEAE G2 50,000 52,080 A 2,080
OXEAAX HNAEH 50,000, 000& 50,000
= 40,000
Al H] 10,000
FAHBHEH 29 4,841 4,774 67
201 Bt A H| 4,841 4,774 67
01 At 22l ] 3,214 3,994 AT780
OF A BHEHSHH| 1,364
FAXDOI &4 88,000& =34 264
TZIHEY 175, 000& *3 4 525
- SAIEY 55,000& =44 220
- SAJIEX 14,1903 255 A 355
OSee3 e A 1,000,000& x13] 1,000
OFPEH Ol 50& *3,0000H 150
omMsszz s 70,000& * 104 700
02 3524t 1,627 780 847
o&dIIe=a 80,000& x12& 960
O2AAHBIAANZEZ 20,000& «12& 240
OUHERAaAANEEZ 35,530 x12& 427
AAHM RN 800 800 0
203 &R =AY 800 800 0]
03 A ZHF=X AR = XIH| 800 800 0
O AIHF=ZA 800,000& 800
BH2YAHI (FALIAD) 17,304 14,592 2,712
oA 2AY| 3,864 3,360 504
ol 2AH| 3,864 3,360 504
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